240.0 220.0 136.0 136.0 175.0 REVISION HISTORY

ZONE |REV DESCRIPTION DATE APPROVED
~—— 2X 92.88 —=
A I 1 |

] T T 1T T T T e e

P2328 UNISTRUT WING SHAPE FITTING - -
A 14 | 43 | 1/4-20 X 2.00 LG. SOCKET HEAD CAP SCREW 316 STAINLESS STEEL -
N\ | 1] 42| 67102-E-56129-A BOTTOM RING (1TEM #4) ; _
A 1| 41 67102-56104 OSCAR HE BAG WINDOW - -
1| 40 67504-XXXXX . ADJUSTMENT BLOCK - -
2 | 39 | 67102-56101-03 SLIDE ADJUSTER - -
X0, o, aces 1| 38 67504-XXXXX SANE HE BAG EXTENSION ; ;
2% (28)
DETA | L ”B " \/ | EW 2 37 67102-56101-02 ADJUSTER PLATE - -
1| 36 | 67102-E-56129-A GEN HE BAG WINDOW ASSEMBLY - -
2 | 35 | 1/4*-20 X .75 LG. HEX HEAD BOLT 316 STAINLESS STEEL -
4 | 34 | 1/4*-20 X 2.0 LG. HEX HEAD BOLT 316 STAINLESS STEEL -
16 | 33 | 5/16" STANDARD WASHER (FOR 5/16" BOLT) - .
44 | 32 5/16"-18 STANDARD HEX NUT - -
2% (28) 44 | 31 1/2°-13 STANDARD HEX NUT - -
26D 10|30 ] 1/2"-13 X 3.00 HEX HEAD BOLT
ox @ /2"~ . -
% 2% |29 | 1/2-13 X .75 HEX HEAD BOLT : .
DETAIL "C”" VIEW / s pLACES | P 283 28 | 1/2*-13 X 1.00 HEX HEAD BOLT : -
3.0 8 |27 98841A033 MCMASTER-CARR THEADED ROD 1/2* - .
18 | 26 95412A732 MCMASTER-CARR THEADED STUD 1/2° - .
3.0 8 |25 90034A030 MCMASTER-CARR THEADED ROD 5/16" - .
8 | 24 3131756 MCMASTER-CARR J-PIPE HANGER - -
12 | 23 3014746 MCMASTER-CARR EYE BOLT - .
12 | 22 3001754 MCMASTER-CARR TURNBUCKLE - .
8 | 21 P4377 UNISTRUT U FITTING - -
2x (10)
%G9 6 | 20 1/4* STANDARD WASHER (FOR 1/4* BOLT) 316 STAINLESS STEEL -
8 | 19 P1498 UNISTRUT 90 DEG. ANGLE FITTING - -
® 9 | 18 1/2-13 UNC. STANDARD NUT 316 STAINLESS STEEL -
O 13117 P1458 UNISTRUT 90 DEG. ANGLE FITTING - -
S5 PLACES
12 | 16 P2862 UNISTRUT FLAT PLATE FITTING .31 : -
2 |15 P2864 UNISTRUT FLAT PLATE FITTING .50 - .
8 | 14 P1873 UNISTRUT FLAT PLATE FITTING - -
3 PLACES 9 |13 P1737 UNISTRUT U SHAPE FITTING - .
285 | 12 P3010 UNISTRUT CHANNEL NUT 1/2* - .
12 | 1 P3007 UNISTRUT CHANNEL NUT 5/16° - .
2X
2X 12 1 10 P3013 UNISTRUT CHANNEL NUT 1/2* (THIN) - -
0 (13 24 | 9 P2484 UNISTRUT ANGLE FITTING - -
@ S5 PLACES
1 P24 N - -
1 B acEs 9 NOTES 2 | 8 2452 UNISTRUT KNEE BRACE
(FARSIDE NOT SHOWN) 1: ALL UNISTRUT DETAILS ARE PAINTED GREEN 3|7 P2458-30 UNISTRUT TUBULAR KNEE BRACE - -
2: ALL REQUIRED DETAIL LENGTHS ARE AR | 6 P1000H3 UNISTRUT CHANNEL (LENGTH SHOWN) - -
SHOWN NEXT TO DETAIL BALLOON.
TN ITEM 495 CUT T0 8.0 LG, 5 1 5 P9200 UNISTRUT TELESTRUT TUBE 75.0 LG. - .
| TEM z27 CUT TO 28.0 LG. OR USE STD. LENGTH.
4 : IF REQUIRED ANY SUITABLE MAT'L TO CONNECT 8 4 P4101 UNISTRUT POST BASE ) )
ITEM #22 TO ITEM #2.
() AR | 3 P1001 UNISTRUT CHANNEL (LENGTH SHOWN) - .
5: >THIS ASSEMBLY TO BE MODIFIED FROM EXISTING OSCAR EXPERIMENT
SEE PRINT 67102-56100 FOR DETAILS. . 93050A033 | MCHASTER-CARR THEADED ROD 1/2* | ' 3\eth- srom) i
6: >SINGLE BAG TAB DEFINED ON SHEET 2. ALL TABS ARE LOCATED ON DORSAL 2 PLACES
SURFACE OF BAG. 1 1 - SANE HE BAG B -
7: >MULTIPLE TAB LOCATIONS DEFINED ON SHEET 2. TABS ARE LOCATED ON DORSAL QT TTEw CenTART OR™ NOMENCLATURE o ATERTAL NOTES
SURFACE OF BAG. SECONDARY TABS ARE LOCATED + OR - 30 DEGREES (RADIAL) ' '
FROM THE CENTER TAB 2X MOUNT TO SOS DECK (NOT SHOWN) __ EACH SHEET OF MULTI-SHEET DRAWINGS SHALL ALWAYS HAVE THE SAME REVISION LEVEL.
' LOCATION TO BE DETERMEND BY JLABS $doAUmint conTROL STAMP D& TOL R AN lEiep” | TRACKING NO. United Stotes
DIMENSIONS ARE IN INCHES N/A Depar tment %@7 Newpor News
TF??&\E??(’)QI\?SES AREE:CIMAL ANGLES of Enerqy mas Jefferson National Accelerator Facility Virginia
= VA :g&x ?éés £ 50 APPROVALS DATE HALL C
DETAIL "A"” VIEW NATERIAL THIRD ANGLE PROJECTION | ORAWN SANE EXPERIMENT
* __TURCHES Ol/23/08 HEL IUM BAG ASSEMBLY
FINISH UNLESS
MACHINED 123 OTHERWISE APPROVED SIZE|DWG. NO. REV.
B e sum @% E 57504 XXXXX -
DO NOT SCALE DRAWING APPROVED SCLE  NONFE  [weoovasyi.  67504-00001 [SHEET 1 OF 9

3 / 6 N + 4 3 ‘ 2 1




8 / 6 D 4 2 ‘
+ REVISION HISTORY
ZONE |REV DESCRIPTION DATE APPROVED
4.70
- 72.00 - o
S
3.00 2X 3
= 71.98 - ° e
4 ) 2X
é— /‘
SOE
h \\ 2X
\ 7 Nol/8 N ©

3X 5.880

2X 5.520

!

ASSEMBLY SHOWN WI THOUT
WINDOWS FOR CLARITY

SYMMETRIC CENTERL INE
FOR HOLES ONLY

14X @¢.281 THRU

2 ) 4X

69.98

ASSEMBLY SHOWN WI THOUT
WINDOWS FOR CLARITY

2X 1.460
1
4 440 - - - \ 2X 8.270
L
2.880 - - 2X 6.210
] M
SYMMETRIC —_ 3.360 2X 3.170 SECTION A-A
CENTERL INE \
_ _ +$_____ ! ‘
7.720 ‘ 2 | 8 ~08 VERTICAL WINDOW , 97ﬁkgﬂ'ﬁﬂy)foﬂﬂ6 molo-
4 g 2 | 7 ~07 HOR 1 ZONTAL WINDOW . 67A§U¥{N3¥ §00816 o -
o 1| 6 ~06 FRONT WINDOW . 67ALXUM5' N9U7M X3000316 TH -
| ALUMINUM 6061
Y by -05 ADAPTOR 8.50 X 18.00 X .063 TH | ~
1. ADHERE TO AWS STANDARDS FOR WELDING ALUMINUM. ALUMINOV 606
- - - 4 | 4 -04 HOR | ZONTAL SUPPORT 00X 487 % 13 TH -
| 2. AFTER WELDING, JLAB PERSONNEL TO BOND WINDOWS ALUMINUM 6061
b (ITEMS -06, -07 AND -08) IN PLACE USING EPOXY. Y 03 VERTICAL SUPPORT 1.00 X 7.72 X A3 TH |~
| ALUMINUM 6061
4 | 2 02 ANGLE -
3. BREAK SHARP CORNERS 1,64 MAX. 1.00 X 1.00 x .13 TH
1 01 HE BAG EXTENSION - -
RQETQYD INToE.M |DEN$?§$|S(R; NO. ogoggggk?;%gN SPEMCAITFEIRCIAATLI ON NOTES
\ PARTS LIST
F\)4 250 _ _ EACI_-i SHEET OF MULTI-SHEET DRAWINGS SHALL ALWAYS HAVE THE SAME REVISION LEVEL.
S efedonlab e
- TOLERANCES ARE : of Ener mas Jefferson National Accelerator Facility Virginio
FRACT IONS DECIMAL ANGLESL 9y
£ WA I%((X ?éés £ 0 APPROVALS DATE HALL C
~05 ADAPTOR R NoTED THIRD ANGLE PROJECTION [OFAML T SANE EXPER IMENT
__TURe SANE HEL UM BAG EXTENSION
FINISH UNLESS
MACHINED 125 OTHERWISE APPROVED SIZEIDWG. NO. REV.
S v B © - : 57504 XXXXX i
DO NOT SCALE DRAWING APPROVED SCALE NONE USED ON ASSY M0 67504-XXXXX SHEET 1 OF 1
38 / §) 5 ‘*k 4 ‘ / 1




distance below nominal beam heigth [cm]

L
o

L
N

o
N

L
o

N
oo

4.700 GeV beam deflection ——

About the end of the
extension piece, ~ 5"
deflection

50

100

150 200 250 300 350
distace from target center [cm]

400


Jim Dunne
Oval

Jim Dunne
Callout
About the end of the extension piece, ~ 5" deflection


2X

4440

2.880

1.4060

- 35X 35.880

2X 5.520

!

SYMMETRIC CENTERL INE

FOR HOLES ONLY

14X @.281

THRU

Need to shift up by
0.14" so that the

of the box is 1.5"
from the beamline

inner part of the top

=

SYMMETRIC —
CENTERL INE

5.360

Cannot move this
side to the left
without modifying
the flange (and
shielding)

— - 2X
— - ///// 2X 6.210
5 - T
2X 3.170
' ‘ y
& - T ‘
4750
. |
\_R4 250
-~ 4,250 —=
- 8.500 -
05 ADAPTOR

SCALE 1/2

.270


Jim Dunne
Callout
Need to shift up by 0.14" so that the inner part of the top of the box is 1.5" from the beamline

Jim Dunne
Callout
Cannot move this side to the left without modifying the flange (and shielding)


8 7 6 5 ‘+' 4 3 2 1
= 971.65
EXISTING = /66.65
| POST
¥~ LOCATION || H = 508.65
‘ H || = “ 310.65
‘ 42‘19 H ‘{ 2613 ﬂ H s —iﬂ ii - / \\\\—TARGET CENTER
. 1 R
‘| —H | | (TOP VIEW)
| R o | XY
H 104 28 EXISTING
' 116.28 POST 116.28
‘ EXISTING LOCAT I ON
EXISTING EXISTING POST | POST |
POST LOCAT ION | LOCATION | 7> | 230.34 -
LOCAT I ON ‘ ‘
_
_$‘ | _%. |
7> |- 374 .21 -
7> = 446 .17 -
[7:> |= 590.10 —
[7: > | 662 .06 -
(7:> (= 877 .95 -
HE BAG FRAME POST LOCAT IONS
LOCATIONS ARE AT THE POST CENTER (TOP VIEW)
- 949.97 -
5> = 805.97 -
~ 733.98 -
5> - 517.98 -
6> = 301.98 -
N 5> |- 157.99 N
* | | | ! | .
$ l
— —t —— —t —+ —all—
| |
| | l | | TARGET CENTER
| | (TOP VIEW)
i Y X
L 27.7 —20.4 14.8
L 33.5
310.7
4X SIDE OF BAG
INSPECT ION POINTS 5087
766.7
971.7
HE BAG |INSPECT ITON POINTS
(TOP VIEW)
4X TOP OF BAG
INSPECTION POINTS
11.6 10.4—l 5 g 6 Yo
E.] | | | ] | | | :l' ] | 1| | ] _ Z
1.5 s B s B N
I
| TARGET CENTER
310.7 (SIDE VIEW)
I
| 508 .7
766.7
971.7
HE BAG |INSPECTION POINTS
(SIDE VIEW)
old smaller size
extension
WINDOW: 28.0 DIA X .04 THICK
5052 ALUMINUM
| | 1 | | 1 | | 1 1 | / T
BEAM NOMINAL NO DEFLECTION * — - — - R __ S —— —_ —_ - —_ - __ :;==' — —
? 2'20 __/__/___/:::::——’/::—:_::_:——::/—— \
2.8° | T TARGET CENTER
BEAM MAX DEFLECTION & >~ - T
WINDOW: 28.0 DIA X .04 THICK
5052 ALUMINUM
HE BAGC BEAM DEFLECT IONS
SECTION D-D
DOCUMENT CONTROL STAMP [SIZE|DWG. NO. REV.
E 6/504-XXXXX —
SCALE NON E USED ON ASSY NO. 67504_00001 SHEET OF 2
8 7 6 5 ‘$k 4 3 2 1



Jim Dunne
Callout
old smaller size extension


WINDOW: 28.0 DIA X .04 THICK
5052 ALUMINUM

BEAM NOMINAL NO DEFLECTION
*
2.2°

2.8° i

BEAM MAX DEFLECTION &

WINDOW: 28.0 DIA X .04 THICK —Wewillseeifwe
5052 ALUMINUM can move windows
farther from the

centerline



Jim Dunne
Callout
We will see if we can move windows farther from the centerline

Jim Dunne
Callout
4.7 GeV

Jim Dunne
Callout
5.9 GeV




